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Group-li PAPER: ||
15 Minutes | (Objective Type)| Max. Marks: 10

Four possible answers A, B, C and.D to each question
are' given. The choice which you think is correct, fil that

circle in front of that question with Marker or Pen ink in

the answer-book. Cutting or filling two or more circles
will result in zero mark in that question.

Which of the following is not a valid subscript?

(@ NUM(10)  (b) A(2)

(c) B4 - (d AC2)v

The _____ function is used to convert ASCIl codes
to its character equivalent. .

(a) CHARS () (b) CHR()

(c) CHAR ~ (d) CHR$ () v’

Which of the following is not a logical operator?

(@) AND ~(b) OR
(¢) NEITHER v (d) NOT

An element of an array is mentioned by its:
(a) SL_xbsc;ript - (b) Array |
(c) Object: =~ (d) Name of element

The maximum length of a  variable name in
GW-BASIC is : s |

(a) 31 (b) 32

~(c) 40v (d) 45

FOR --- NEXT statement is used to implement:
(a) Iteration v/ (b) Selection
(c) Sequence. (d) All of these

Scanne d with CamScanner
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How many possible solutions are there for a problem?
(a) One (b) Two
(c) Three | (d) Multiple v’

Which function changes the way of displaying
output in BASIC?

(a) SCREEN v (b) PRINT

(c) LEFT $ (d) ABS

The output of a function INT (--5.7):
(a) -5 (b) 4

(c) -6V (d) 5

A variable name must start with a (n):
(a) Alphabet v/ (b) Underscore

(c) Digit (d) Alphabet or underscore




